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‘The area of the L-shape is 65 cm”

Work out the value of x.

6 marks)
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12 ABCHisasquare.
HCFG is a rectangle.
CDEFis a square.

‘They are joined to make an L-shape.
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Show that the total area of the L-shape, in cm?,is  x2+ 9x + 27

[4 marks]
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14 (a) A patiem is made from two similar rapeziums.
Not drawn

- w5

“—— 10em —>

Show that the shaded area is 204 cm?
14 marks]
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14 (B) The pattem has one ine of symmetry.

Not drawn
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Work out the size of angle .
13 marks]
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I the diagram, the square and the trapezium share a common side of angth xcm.

Nottoscale

Tocm

The areaofhe square is equa 0 th area o the rapezium.

Wiork outth valu of .
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A shape is made by joining triangle ABC to a semicircle with diameter AC.

Not drawn
accurately

8cm

B 10cm c

Work out the total area of the shape.
[5 marks]





image3.png
‘Two identical quarter circles are cut from a rectangle as shown.

Not drawn
accurately

12em

Work out the shaded area.
[4 marks]
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12 Here is a circle touching a square.

/
\

The area of the square is 64 cm?

Work out the area of the circle.
Give your answer in terms of 1.

Not drawn

13 marks]





image5.png
26 Here is an L-shape.

Al dimensions are in centimetres.
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